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e U[0: +1]

double GetRandom(){
return (double)rand()/(RAND_MAX+1.) ;

}
o U[-1:+1]

double GetRandom(){
return 2.0*(double)rand()/(RAND_MAX+1.) -1.0 ;

}

O000O0O0O0O0OO0O0O0oO0OOoOooOoOoo“o”’o
srand(time(NULL)) ; // 000O0000ooOoooog
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6.1 0000000000000 0OOOOOOOOOO0

#include<stdio.h>
#include<stdlib.h>
#include<math.h>
#include<time.h>

#define Pl 3.141592654

double GetRandom(void) ; // -1 001000000000000000
double GetRandomO1(void) ; // -1 001000000000000000



double Normal( double, double, double) ;
int main(void){
srand(time(NULL)) ; // 0O000Oooooooooo
int i, n;
double x_i[41] ; // oo
double y_i[41] ; // 000000000000
double U ;
double mu_t, mu_tmp ; // oo
double sigma_t2, sigma2_tmp ; // oo
double yNXt, yNY ;

double alpha ; // ooood
int N ; // ooo

/Il 0000000000000 open O0000O0O0OQOOOOOOO MU
FILE *fiptr ;
fiptr = fopen("Random.dat","r+") ;

if( fiptr==NULL ) printf(‘failed at fopen\n") ;
else{

for( i=0; i<41; i++) fscanf( fiptr, "%If%If", &x_i[i], &y_i[i]) ;
}
fclose(fiptr) ;
urooooooo open MR
FILE *foptr ;
foptr = fopen("MCMC_plot3.dat"," H
if( foptr==NULL ) printf(‘failed at fopen\n") ;
T T
oot
mu_t = 2.0 ;
sigma_t2 = 2.1

forintf(_foptr, "%l %lAn", mu_tsigma_t2) ;
printe ¥

for(n=0; n<10000;n++){
/I oooooooooaoo dmnn
U = GetRandom() ;
mu_tmp = mu_t + 0.03*U ;
U = GetRandom() ;
sigma2_tmp = sigma_t2 + 0.03*U ;

Ioooa Mg

yNXt = 0. ;

for(i=0;i<41;i++) yNXt = yNXt + pow( y_i[i]-Normal(x_i[i],mu_t,sigma_t2), 2 ) ;

I

yNY = 0. ;

for(i=0;i<41;i++) yNY = yNY + pow( y_i[i]-Normal(x_i[i],mu_tmp,sigma2_tmp), 2 ) ;

/I oooo
alpha = exp( ( yNXt-yNY )/(2.*pow(0.01,2)) ) ;
if( alpha >=1.0 ) alpha = 1.0 ;

I/l oooo

U = GetRandomO1() ;

if( U<=alpha ){
mu_t = mu_tmp ;
sigma_t2 = sigma2_tmp ;
N=N=+1;

}
fprintf( foptr, "%If  %If\n", mu_t,sigma_t2) ;

}
fclose(foptr) ;
printf(" 000 %Ifn", ((double)N)/((double)n) ) ;

return O ;

}

double GetRandom(){
return 2.0*(double)rand()/(RAND_MAX+1.) -1.0 ;
}

double GetRandomO01(){
return (double)rand()/(RAND_MAX+1.) ;

double Normal( double x, double mu, double sigma2){
return 1./sqrt(2.*Pl*sigma2)*exp( -pow((x-mu),2.)/(2.*sigma2) ) ;

62 0000ODODOO0OODOOOOOOOOOOOOOOO

#include<stdio.h>
#include<stdlib.h>
#include<math.h>
#include<time.h>
#define Pl 3.141592654
#define statinary 100000

double GetRandom(void) ; // -1 001000000000000000
double GetRandomO1(void) ; // O 001l000000000000000
double Normal( double, double, double) ; // oooo

int main(void){
int i, n, j;
double x_i[41] ; // oo
double y_i[41] ; // 00000000o0onoo




18 double U ; // U[-1:+1]

19 double mu_t, mu_tmp ; // oo

20 double sigma_t2, sigma2_tmp ; // oo

21

22 double yNXt, yNY ; // 0000000000000

23 double alpha ; // oooo

24 int N ; // ooo

25

26 double mu_t_sum,mu_t_h ; // oooooooooooooon
27 double sigma_t2_sum,sigma_t2_h ; // poooooooooooo
28

29 /Il 0000000000000 open 000OOOOOOOOOOO M
30 FILE *fiptr ;

31 fiptr = fopen("Random.dat","r+") ;

32 if( fiptr==NULL ) printf("failed at fopen\n”) ;

33 else{

34 for( i=0; i<41; i++) fscanf( fiptr, "%lf%lf", &x_i[i], &y_i[i]) ;
35 }

36 fclose(fiptr) ;

37 ar-oooooaoo open MU
38 FILE *foptr2 ;

39 foptr2 = fopen("MCMC_shikou_burn-in100000.dat","w+") ;

40 if( foptr2==NULL ) printf("failed at fopen\n") ;

41 I

42

43 /vemcoooo oo 467 o M
44 srand(time(NULL)) ; // 0000D0000o0oooog

45 oo M

46 U = GetRandom() ;

47 mu_t = 2.0+U ;

48 sigma_t2 = 2.1+U ;

49 N=0;

50 mu_t_sum = 0. ;

51 sigma_t2_sum = 0. ;

52 =0 ;

53

54 for(n=0; n<100000+statinary*10;n++){

55 /I ooooooooooo M

56 U = GetRandom() ;

57 mu_tmp = mu_t + 0.03*U ;

58 U = GetRandom() ;

59 sigma2_tmp = sigma_t2 + 0.03*U ;

60

61 Ioooo i

62 yNXt = 0. ;

63 for(i=0;i<41;i++) yNXt = yNXt + pow( y_i[i]-Normal(x_i[i],mu_t,sigma_t2), 2 ) ;
64 n

65 yNyY = 0. ;

66 for(i=0;i<41;i++) yNY = yNY + pow( y_i[i]-Normal(x_i[i],mu_tmp,sigma2_tmp), 2 ) ;
67

68 /I oooo

69 alpha = exp( ( yNXt-yNY )/(2.*pow(0.01,2)) ) ;

70 if( alpha >=1.0 ) alpha = 1.0 ;

71

72 I/l 0000

73 U = GetRandom01() ;

74 if( U<=alpha )

75 mu_t = mu_tmp ;

76 sigma_t2 = sigma2_tmp ;

7 N=N+1;

78 }

79

80 if(n>=100000){

81 mu_t_sum = mu_t_sum + mu_t ;

82 sigma_t2_sum = sigma_t2_sum + sigma_t2 ;

83 o

84 if( j%10==0) fprintf( foptr2, "%lf  %If %d\n", mu_t, sigma_t2, j/10) ;
85

86 }

87

88 mu_t_h = mu_t_sum/j ;

89 sigma_t2_h = sigma_t2_sum/j ;

90

91 printf("mu=%If\n", mu_t_h) ;

92 printf("sigma®2= %lf\n", sigma_t2_h) ;

93 printf("rate= %If\n", ((double)N)/((double)n) ) ;

94

95 fclose(foptr2) ;

96 I
97

98 return 0 ;

99| }

100

101 double GetRandom(){

102 return 2.0*(double)rand()/(RAND_MAX+1.) -1.0 ;

103 | }

104 | double GetRandom01(){

105 return (double)rand()/(RAND_MAX+1.) ;

106

107 | double Normal( double x, double mu, double sigma2){

108 return 1./sqrt(2.*PI*sigma2)*exp( -pow((x-mu),2.)/(2.*sigma2) ) ;
109

63 0000000000000 O0OO0ODOOO00O0OO0OO00O0ODODOOOOODODOOOOO0
oo

#include<stdio.h>
#include<stdlib.h>
#include<math.h>
#include<time.h>
#define Pl 3.141592654
#define shikou 1000

N T N



8 | double GetRandom(void) ; // -1 001000000000000000

9 | double GetRandomO1(void) ; // O 001l000000000000000
10 | double Normal( double, double, double) ; // ooog
11
12 | int main(void){
13
14 int i, n, j k
15 double x_i[41] ; // oo
16 double y_i[41] ; // 000000000000
17
18 double U ; // U[-1:+1]
19 double mu_t, mu_tmp ; // oo
20 double sigma_t2, sigma2_tmp ; // 0o
21
22 double yNXt, yNY ; // 0000000000000
23 double alpha ; // oooo
24 int N ; // ooo
25
26 double mu_t_sum,mu_t_h ; // oooooooooooooo
27 double sigma_t2_sum,sigma_t2_h ; // poooooooooooo
28
29 /I 0000000000000 open 0O0OOOOOOOOOOO MU
30 FILE *fiptr ;
31 fiptr = fopen("Random.dat","r+") ;
32 if( fiptr==NULL ) printf("failed at fopen\n") ;
33 else{
34 for( i=0; i<41; i++) fscanf( fiptr, "%lf%If", &x_i[i], &y_i[i]) ;
35 }
36 fclose(fiptr) ;
37 arooooooo open M
38 FILE *foptrl ;
39 foptrl = fopen("MCMC_shikou_small.dat","w+") ;
40 if( foptrl==NULL ) printf(‘failed at fopen\n") ;
41 FILE *foptr2 ;
42 foptr2 = fopen("MCMC_shikou_small_all.dat","w+") ;
43 if( foptr2==NULL ) printf("failed at fopen\n") ;
44 I
45
46 iseMmcoaoo ao 4e7a o MR
47 for(k=0; k<shikou; k++){
48 srand(time(NULL)) ; // poooooooooooo
49 oooo dmmnnnnninm
50 U = GetRandom() ;
51 mu_t = 2.0+U ;
52 sigma_t2 = 2.1+U ;
53 N=0;

54 mu_t_sum = 0. ;

55 sigma_t2_sum = 0. ;

56 =0 ;

57

58 for(n=0; n<100500;n++){

59 /I ooooooooooo A

60 U = GetRandom() ;

61 mu_tmp = mu_t + 0.03*U ;

62 U = GetRandom() ;

63 sigma2_tmp = sigma_t2 + 0.03*U ;

64

65 ioooa M

66 yNXt = 0. ;

67 for(i=0;i<41;i++) yNXt = yNXt + pow( y_i[i]-Normal(x_i[i],mu_t,sigma_t2), 2 ) ;
68 n

69 yNY = 0. ;

70 for(i=0;i<41;i++) yNY = yNY + pow( y_i[i]-Normal(x_i[i]mu_tmp,sigma2_tmp), 2 ) ;
71

72 /I 0ooo

73 alpha = exp(  ( yNXt-yNY )/(2.*pow(0.01,2)) ) ;
74 if( alpha >=1.0 ) alpha = 1.0 ;

75

76 /I oooo

77 U = GetRandomO01() ;

78 if( U<=alpha ){

79 mu_t = mu_tmp ;

80 sigma_t2 = sigma2_tmp ;

81 N=N+1;

82 }

83

84 if(n>=100000){

85 mu_t_sum = mu_t_sum + mu_t ;

86 sigma_t2_sum = sigma_t2_sum + sigma_t2 ;
87 o

88 fprintf( foptr2, "%lf %lf %d %d\n", mu_t, sigma_t2, j, k+1) ;
89 }

90 }

91

92 mu_t_h = mu_t_sum/j ;

93 sigma_t2_h = sigma_t2_sum/j ;

94

95 printf(“%d/%d\n”, k+1, shikou) ;

96 printf("mu= %If\in", mu_t_h) ;

97 printf("sigma™2= %lf\n", sigma_t2_h)

98 printf("rate= %If\in", ((double)N)/((double)n) ) ;

99 fprintf( foptrl, "%lf  %If  %lf %d\n", mu_t_h, sigma_t2_h, ((double)N)/((double)n), k+1) ;
100 }

101 fclose(foptrl) ;

102 fclose(foptr2) ;

103 T
104

105 return 0 ;

106 | }

107

108 | double GetRandom(){

109 return 2.0*(double)rand()/(RAND_MAX+1.) -1.0 ;

110 | }

111 double GetRandomO1(){

112 return (double)rand()/(RAND_MAX+1.) ;

113

114 double Normal( double x, double mu, double sigma2){
115 return 1./sqrt(2.*Pl*sigma2)*exp( -pow((x-mu),2.)/(2.*sigma2) ) ;
116 | }
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#include<stdio.h>
#include<stdlib.h>
#include<math.h>

#define shikou 1000
int main(void){
inti, j, N ;

double mu[shikou] ; // MCMC pooooooooooo
double sigma2[shikou] ; // MCMC poooooooooon
double saitaku ; // MCMC 000000O0ooooo
double iteration ; / MCMC gooooooooooo

double sum_mu, sum_sigma2 ;
double mu_h, sigma2_h ;

double sum_mu_s, sum_sigma2_s ;
double mu_s_h, sigma2_s_h ;

/il 0000000000000 open OOOOOOOOOOOOOO MU
FILE *fiptr ;
fiptr = fopen("MCMC_shikou_small.dat","r+") ;
if( fiptr==NULL ) printf("failed at fopen\n") ;
else{
for( i=0; i<shikou; i++) fscanf( fiptr, "%If%If%If%If", &mul[i], &sigma2[i], &saitaku, &iteration) ;

}

fclose(fiptr) ;

arooooooo open MR
FILE *foptrl ;

foptrl = fopen("MCMC_shikou_mu_dist_small.dat","w+") ;

if( foptrl==NULL ) printf("failed at fopen\n") ;

FILE *foptr2 ;

foptr2 = fopen("MCMC_shikou_sigma2_dist_small.dat","w+") ;
if( foptr2==NULL ) printf("failed at fopen\n") ;
I
sum_mu =0. ;

sum_sigma2 = 0. ;

for(i=0;i<shikou;i++){
sum_mu = sum_mu + mulfi] ;
sum_sigma2 = sum_sigma2 + sigmaz2[i] ;

mu_h = sum_mu/shikou ;
sigma2_h = sum_sigma2/shikou ;

sum_mu_s =0
sum_sigma2_s = 0. ;
for(i=0;i<shikou;i++){
sum_mu_s = sum_mu_s + pow( mu[i] -mu_h, 2.) ;
sum_sigma2_s = sum_sigma2_s + pow( sigma2[i] -sigma2_h, 2.) ;
}
mu_s_h = sum_mu_s/shikou ;
sigma2_s_h = sum_sigma2_s/shikou ;

printf("<mu>=%Ifin", mu_h) ;
printf("<sigma’2>=%Ifin", sigma2_h) ;
printf("sigma_mu”2=%If\n", mu_s_h) ;
printf("sigma_sigma”2=%lf\n", sigma2_s_h) ;

for( j=0; 1.189+0.0001*(+1)<=1.198; j++){
N ;
for(i=0;i<shikou;i++){
if( mu[i] >= 1.189+0.0001% && muli] < 1.189+0.0001*(j+1) )
N++

}
}
forintf( foptrL, "%l %IAn", (( 1.189+0.0001% )+( 1.189+0.0001%(+1) ))/2, ((double)N)/(shikou/10000.0) ) ;

for( j=0; 1.390+0.0002%(j+1)<=1.425; j++){
N ;

for(i=0;i<shikou;i++){
if( sigma2[i] >= 1.390+0.0002% && sigmaz[i] < 1.390+0.0002*(+1) ){
N++ ;
}
}
fprintf( foptr2,"%If  %Ifin", (( 1.390+0.0002% )+( 1.390+0.0002*(j+1) ))/2, ((double)N)/(2.0*shikou/10000.0) ) ;
fclose(foptrl) ;
fclose(foptr2) ;
s
return 0 ;
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